4 X 2
[ fe=serdeiel g o
( ?ek~3)(€ o Xk 2)

‘

—_—

S ’<
Recew (, Suésfx“déacg dﬁi:e)(l d# = € o[)(~ O2nao

T = f 23%_5#2*‘?31“/{ C@L ’
(2 -3) (442

Ro Q-QO ?( we_ L U—LQ—@_h owuo/(

2Sytdy A 245y gy A
(4% -3) (44 +2) (4-2)(g+a) (4%g c 2)
_ i N B . Cyq + D
¢ [l /&7{% +2

o5ty = ) By
N (C!¢1~7)> (”i.“ﬂ (%+”>-

Pro ' 3 cogtgne we

54-45+2t-4 = B-4. ¢

32 =3l | Rl O=1.
Tao %:,_4 dw stanewe
9 5-f-4 =~ B.(-4). ¢4

—A6 = A6 B ledy B=A

Pro /;FQO doctonewume



- A :29‘6@ "3:‘):"‘(Z~SD,
— ~ — /]
>=-2D !eoba D .
Pao /(Ll[:/f d o stanewe
0 G efa = 4p B+ (c+D) (2) 2
4 C=0.
4 N ‘ZC+‘(‘ Je_élé\
'I_eobﬂr

1 y y

+——_o—~

¢ /(}i“‘/‘ /?{;w’—Z

l‘ule?,ramol J =

D a[/z a‘es‘(‘

C

A
/ ,f(i = &g{?,B){ f t 2@03

?’3 /;[wﬁﬂ
Ay d
f 2 = f s =
-y +2 2 o
7 (4-2) *5

/7”[/



M€ (*W,-'Bl gé(-@g){ y € (3(00>.

Poussowe /082 pno
(ab) = (- 00,@0?3) e bo (&? 2 ) /
(x @)= (0,3) wmebo (3 )

0 (xp) >R Yl =yt
potows o (G p) = (ab)
. cﬂ(x):eﬂ Xe (@,é)/
o L//[é-)cg 8X6'57lu7’/ ﬂ/ﬂaﬂ%/
e MMUO@W/ %zéé(o({ﬁ)_
r\ec%
< Qo(c)( (Q~3 603 (€+/l ~ \C?‘/‘Cg(@ //)
e (o0, @9&3 tabo xeé (@%3, o)

[
/‘i@dmﬂC‘Qw - SL{A_QA'VLU('@

J
/03 llaol g
iuééézmm e, s, 3
20l )



